). | pis] A crate of mass m=50 kg sits at rest in the back of a pick-up truck swhich is mowving at
a constant 125 nu's.

fah Write, in words, in a sentence, for the weight of the crate: what object exerts the force, what
abject the torce is exened on. and the direction of the force: e.g.. “Object A pushes up on Olject
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() ™ow write i words, i a semence, the Newiton's Third Law reacuon force for the weight of
the crate
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(o) Dieaw a foree diagram for the crate sitting in the truck and calculate the statie fmctional Force
an the ock. The mass of the crate a5 S0000 kg, the coefficients of friction between the crate ond
the ruck bed are g, = 0,250 and g, = 0323555,
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(alp ™oy the truck driver slams on s brakes and stops in 3.2 sec. What s the acceleration of the

truck’
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{2 Assume that the crate does ot slide and caleulate the static frictional force on the crate,
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